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(2) Figures indicate on the right show marks.

The total assets of Sajan Traders are valued at

11,60,000 and the total liabilities 4,40,000. The average
net profit (after tax) is 1,55,200. The goodwill of the firm
valued at two year purchase of the super profit of the

firm is 80,000.

Find out the expected rate of return on capital

employed in this firm.
The paid up capital of a company consists of 7,000

equity shares of Rs. 100 each fully paid. The normal
average profit (less tax) of the company is 1,38,000. It
is the practice of the company to transfer 26,000 out of
the profit to general reserve. The normal return applicable

to the particular type of business is 10%.

Calculate the maret price of the share.

¥
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(©0 From the following details find out intrinsic value; 2
market value and fair value of the share :
Expected rate of return = 12%
Net assets for valuation of share = 8,04,000.
Equity shares 5,000 of Rs. 100 each fully paid up.
There is no preference share capital.
Average profit is 96,480.
(d) From the following details; ascertain the value of 2

goodwill of the firm on the basis of Five years' purchase of

super profits :
Expected rate of return 15%.
Fair annual remuneration of partners 92,480.
Average capital employed 5,00,000.
Average annual profit 2,00,000.
() Kishan an employee of Ram-Kabir Limited received 2

8,35,800 as gratuity (under the Payment of Gratuity Act
of 1972 Sec. 10 (10) (i1)) on his retirement on 11-12-13.
He has served the company for a total period of 25 years
and 8 months. At the time of retirement his monthly
salary including dearness allowance amounted to 45,000.

Find out taxable gratuity for the a. y. 2014-15.
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2 Kanji is the owner of four houses From the following details, 14

find out taxable income from house property for the a.y.

2014-15 :

Particulars House-I House-II House-I11
Municipal value 1,32,000 1,57,200 97,200
Fair rent 1,32,600 1,54,800 1,15,200
Standard rent 1,33,200 1,56,000 1,08,000
Rent receivable 1,92,000 1,92,600 1,33,800
Local taxes 7% 8% 5%
Un-realised rent 7,000 8,000 9,000
Vacant period 3 months 2 months 1 months

Amount paid by
the owner for the

facility of tenant 24,000 12,600 24,600

Additional Information :

(1) On 1-3-07; for the construction of house-I; a loan of
3,20,000 was taken at the rate of 10%. The construction
finished on 31-1-09.

(2) On 1-11-10; for the construction of House-II; a loan of
3,40,000 was taken at the rate of 12%. The construction
finished on 1-9-12. Such loan was paid up on 31-8-13.

3) On 1-4-13; for repairing of House-III a loan of 5,00,000
was taken at the rate of 8%.

(4) House-IV 1is self-occupied. To purchase such house; on
1-3-12; a loan of 13,00,200 was taken at the rate of 10%.

(5) During the p.y. 2013-14; the owner also paid local taxes
9,424 which was unpaid for p.y. 2012-13 for House-II.

OR
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2

Balance sheet of Jindal Ltd. Company as on 31-3-14 : 14

Rs. Rs.
6%; 30,000 pref. Goodwill 1,70,000
share of Rs. 10 Land-building 3,55,752
each fully paid 3,00,000 | Furniture 1,00,000
50,000 equity Stock 2,00,000
shares of Rs. 10 P.F. Investment 60,000
each, fully paid 5,00,000 | Debtors 2,00,000
7% Debentures 2,00,000 | Cash-bank 64,248
Provident fund 60,000
Creditors 50,000
Bills payable 40,000
11,50,000 11,50,000

Additional Information :

(1) Goodwill valued at 1,50,000.

(2) The market price of land-building is 3,99,752 more than

its original price. Consider market price for the valuation

of share. It was purchased on 1-4-11; charged 10%

depreciation as diminishing method.

(3) The market price of 20% of stock is 30% less.

(4) The average annual profit (before 50% tax) is 2,76,000.

(5) The normal return applicable to this type of business

is 10%.

Find out fair-value of equity share.

AC-2695]
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3 On 1-12-08; Mr. Clean joined in Navyug Company Ltd. 14

of Surat in the grade of 60,000 — 1,000 — 70,000 — 5,000 —

88,000 - with three increments.
The company pays bonus at 12% of basic salary.

On 1-12-11 the company gave him four additional

increments in addition to his regular increment.

(1) The company has provided him a motor car of 1,600 c.c.
for his personal as wall as company work and the
company paid 84,000 as its maintenance charges
including salary of driver. The car is used for both

purposes.

(2) The company contributes 15% of basic pay in his
recognised provident fund while Mr. Clean has paid 16%
of basic pay.

(3) Interest credited to recognised provident fund on

31-12-13 is 1,87,500 at the rate of 12.5%.

(4) The company has provided a residential flat for which
the company has to pay 1,80,000 as annual rent. The
company has also provided furniture of 2,40,000 in this

flat.

(5) Mr. Clean received 69,600 as annual commission from

company.

(6) Partly free education facility provided to his three
children in an institution maintained by the employer;
cost borne by the company for providing such education

is 84,000 of which 6,000 is recovered. From the salary.
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Cost borne by the company for providing free holiday
home facility at Khandala Rs. 82,800.
Mzr. Clean bought personal articles worth 42000 by
using the credit card provided by the company.
Find out gross salary for the a.y. 2014-15.

OR
Mr. Smart is Manager of a company at Delhi. 8

Determine the value of perquisite in respect of rent free
furnished house from the details of his salary for the
a.y. 2014-15

(1) Basic Pay :

Rs. 40,000 per month up to 31-12-13 and Rs. 45,000
per month from 1-1-14

(2) Dearness Allowance :
From 1-1-13 to 30-6-13 = 40% of Basic pay.
From 1-7-13 to 31-12-13 = 50% Basic pay.
From 1-1-14 to 30-6-14 = 60% Basic pay.

For calculation of provident fund 69% of Dearness

Allowance is considered.
(3) Bonus 10% of Basic salary.
4) Commission 1995 per month
(5) Perquisite of furnitured Accommodation :

The house was actually used by the employee for
residential purposes from 1-4-13 to 31-1-14. The
actual fair rent of this house owned by the company
is 1,80,000. The company has provided furniture
of 8,40,000 original price. The company also paid

rent Rs. 80 per month for refrigerator.
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(b) On 31-3-13 Chaturdas retired from Chakor Ltd. 3

Company of Chennai on 1-4-13 he joined in Shakti Ltd.

Co. of Surat.

He has not received Gratuity from Chakor Ltd. Co.

of Chennai.

On 1-10-13 he received 1,82,400 as commuted
pension from Chakor Ltd. Co; which was 75% of total
commutable pension. Find of taxable commuted pension

for the a.y. 2014-15.
(©0 On 31-3-13 Mohanlal retired from Meera Co. Ltd. 3

of Mumbai on 1-4-13 he joined as a Manager in Divya

Co. Ltd. of Delhi.

He has received Gratuity from Meera Co. Ltd. of
Mumbai.

On 1-11-13 he received 1,36,800 commuted pension
from Meera Co. Ltd. which was 60% of total commutable
pension. Find out taxable commuted pension for the a.y.

2014-15

4  Write short notes : (any three) 12
(1) Deductions under Sec. 80-C
(2) Recognised Provident fund and Un-recognised provident
fund

3) Gratuity
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()
©6)
()

(b)
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Perquisite of motor to Employee of Pvt. Co.
Valuation of share according to Net Assets.
Valuation of share according to Yield Basis.

Valuation of Goodwill according to Capitalisation.
OR

On 13-12-13 Babli retired from Banti Co.Pvt Ltd
and she received 10,93,056 as gratuity. The Gratuity
Act of 1972 is not applied to such company. She served

the company for 32 years and 7 months.

She received 200 as increment from 15* May. She
received dearness allowance as 50% of Basic pay. For
calculation of benefits of retirement 70% of dearness
allowance 1s to be considered. She received 24,000 as

dearness allowance for the month of October-2013.

From 1-3-13 to 30-4-13 she was on leave with half
pay including dearness allowance. She jointed duty on

1-5-13.

Find out taxable gratuity for the a.y. 2014-15.

On 1-1-10 Mr. Intelligent joined service in a

company of Surat in the grade of 5500 — 500 — 7000
— 1000 — 25000 — 2000 — 45000. For the calculation of
benefits of retirement 40% of dearness allowance and

commission is to be considered.

4
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During p.y. 2013-14 he received 2000 per month
as house rent allowance; and 5,000 yearly as commission.
He paid 2410 per month as house-rent.

The rate of dearness allowance is as under.
From 1-1-13 to 30-6-13 = D. A. 50% of Basic Pay.
From 1-7-13 to. 31-12-13 = D. A. 60% of Basic Pay.
From 1-1-14 to 30-6-14 = D. A. 70% of Basic Pay.

Find out taxable House Rent Allowance for the a.y.
2014-15.

(¢ Find out taxability of perquisite of motor-car only 4
from the details given blow :

The company gave a motor-car of 18,00,000 original
price and having 1800 cubic capacity (Big) with driver
to its employee Mr. Kamlesh. The car is being used for
personal purposes only. For such perquisite 4600 per
month deducted from his salary. The company paid
salary of driver 3,000 per month and all other

maintenance expense.
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